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9. I'm now going to read you some statements about general trade issues.
Please tell me how you feel about each statement on a scale of 1 to 7,
where '1' means you 'Totally Disagree' and '7' means you 'Totally
Agree' The first one is...?
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MUST BE PART OF NAFTA
'Totally disagree ' 15 15 ' 15 13 16 ' 16 17 15 ' 15 ' 14 16 15 13
'2 7 6 ' 7 8 ' 6 ' 4 ' 5 ' 10 5 6 ' 6 ' 7 6
'3 ' 14 ' 13 ' 15 ' 16 13 ' 14 ' 15 ' 15 15 13 ' 17 15 ' 12 '
'4 ' 14 ' 11 ' 17 ' 15 ' 14 ' 14 ' 12 ' 13 ' 16 ' 14 ' 15 ' 16 11
'5 ' 16 ' 14 ' 18 ' 16 ' 17 ' 14 ' 18 ' 17 ' 15 ' 15 ' 13 ' 17 ' 16 '
'6 ' 11 ' 13 ' 10 12 13 ' 9 ' 6 ' • 8 ' 13 16 ' 10 ' 10 ' 16 '
'Totally agree 20 26 15 18 20 ' 23 ' 21 ' 20 18 . 21 ' 20 ' 18 ' 27 '
(DK/ NS) 2 2 3 2 2 4 5 2 2 1 3 2 1

:MEAN SCORE ' 4.3 4.5 ' 4.1 ' 4.2 ' 4.3 ' 4.3 ' 4.2 4.1 4.3 4.4 4.2 4.1 4.7
. . . . . . . . . . . . . . .

TOPBOX SCORE (6 & 7) 31.3 38.1 24.7 29.8 32.3 32.0 27.5 28.4 31.4 36.6 30.1 27.5 42.4

'PROBLEMS DUE TO GLOBAL ECONOMY
'Totally disagree 14 ' 16 ' 13 ' 14 ' 14 15 17 17 ' 13 ' 12 14 17 ' 10
'2 ' 9 ' 9 10 ' 12 ' 7 ' 9 ' 8 ' 9 9 11 7 ' 10 ' 9
'3 ' 14 ' 12 ' 15 ' 13 ' 15 ' 12 ' 13 ' 14 ' 15 ' 12 14 ' 13 ' 14 '
'4 12 ' 11 ' 14 13 11 ' 13 ' 13 13 ' 10 13 ' 15 ' 11 ' 11 '
'5 ' 17 ' 16 ' 17 ' 18 ' 17 ' 14 ' 15 ' 17 ' 17 ' 17 ' 17 ' 18 ' 17 '
'6 ' 14 15 ' 13 ' 15 ' 15 ' 11 ' 10 ' 9 ' 17 ' 18 11 ' 14 ' 19 '
'Totally agree ' 18 ' 21 ' 16 15 ' 20 ' 22 ' 20 ' 19 ' 17 ' 18 20 ' 17 ' 20 '
(DK/ NS) 2 1 2 0 1 4 4 1 1 0 3 1 0

MEAN SCORE 4.3 4.3 4.2 ' 4.1 ' 4.4 ' 4.3 4.2 4.1 4.3 4.4 4.3 4.1 4.5

10PBOX SCORE (6 & 7) ' 32.4 36.0 ' 29.0 ' 29.5 ' 35.1 32.9 ' 30.2 ' 27.6 ' 34.1 ' 36.2 30.4 ' 30.5 ' 38.2

A555£55££555£5£££££555555£5£5££5555£@5££55££5é£5555555é5££55£55é5££5£££5@5££55£££é££££5555é£55££5££é5££££55£é55£5£55£@55£55£££@££55£555@£5£££555ê555555551

Source: Angus Reid Group
National Angus Reid Poll i 39
January 1993

1


